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Private Sub sum(unitprice, number)

@ numl As Integer
© num2 As Integer
Dim result As String

nm

result =

numl = unitprice * number + numl

num? = unitprice * number + num?2

result = numl & " " & num?2
MsgBox(result)
End Sub
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class Ref {
int a;
Ref(int x) {
a=x
}
int sum(Ref obj) {

int k;

k = obja - a

a = 10; obj.a = 20;
return k;

}
class PassRef {
public static void main(String[] args) {
Ref objl = new Ref(3);
Ref obj2 = new Ref(4);
int k1 = obj2.sum(objl);
"+k1);
System.out.print(” objl.a= "+objl.a);

System.out.print("k1=

System.out.print(” obj2.a= "+obj2.a);

}

@ kl1= -1 objl.a= 10 obj2.a= 20
@ kl= -1 objl.a= 20 obj2.a= 10
@ k1= 1 objl.a= 3 obj2.a= 20
@ kl= 1 objl.a= 20 obj2.a= 3
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Dim sum As Integer

Dim counter As Integer

sum = 0

counter = 0

Do While sum <= 100
sum = sum + Clnt(Textbox1.Text)
counter = counter + 1

Loop

MsgBox(CStr(counter))

@ Textboxl.Textell Y&® v+

@ counter =0<

@ CInt(Textboxl.Text)ol Al  Clnt %
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#include <stdio.h> #include <iostream>
using namespace std;
void swap(int a, int *b) { const int MAX_SIZE = 50;
int temp;
temp = a; template<class TYPE>
A= b class classA {
b temp; TYPE datalMAX_SIZE];
int nCount;
} public:
classA() { nCount = 0; }
void main() { void f1(TYPE in) {
int value = 3, list[4] = {1, 3, 5, 7}; datalnCount++] = in:
int if (nCount == MAX_SIZE)
cout << "Overflow” << end];
swap(value, &list[0]); }
swap(list[2], &list[3]); TYPE 2(void) {
swap(value, &list[value]); if ( nCount <=0 ) {
for (i =051 <4 i++) cout << "Empty” << endl;
printf("%d ", list[i]); return datal0];
} }
else return data[-—nCountl;
1357 ©® 3333 }
@ 3353 @ 3355 .
void main() {
= 9. O C++ ZEIL AlG(factoria) & ANk TR0tk classA<int> SI:
O3 O EolZ W&o &2 AL? int i;
#include <iostream> for 1=051<10;1+=2) SLfI(i)
using namespace std; for (i =01 <5 i++)
cout << S1.£20);
double factorial(int n) { )
if (n==0 O @ 01234 @ 02468
else © @ 43210 @ 86420
}
11 AAAE dojo] EFor A e AL?
void main() { @ 84 (polymorphism)& At
it @ FYzehs F4 dolH BYS ATdth
cout << "r=? ", cin >> 1, g j]lj}jj :ﬂi _;ﬁp:ﬂg R e
cout << r << =" << factorial(r) << end]; cem R
} 212 geolel AR 2ol 0948 SRS TAHE PO L2

a 9
@ return 1; return (n * factorial(n-1));
@ return 0; return (n * factorial(n-1));
@ return 1; return ((n-1) * factorial(n));
@ return 1; return ((n-1) * factorial(n-1));
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#include <iostream>

using namespace std;

void main()

{

int i;

int & =1

1=2

i=3

cout << 1+ j;
}
@ 3 @ 4
® 5 @ 6
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@ GUI(Graphic User Interface)E T-3:3817] 93k vkt
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class A {
int 1;
public A(int 1) { thisi = i; }
int get() { return i; )
}
class B extends A {
int i;
public B(int 1) { super(2+); thisi = i; }
int get() { return i, }
}
class MAIN {
public static void main(String args[]) {
A ab = new B(7);

}
}

Mo

System.out.println(abi + ", ” + ab.get());

D77 @ 17 14
©® 14,7 @ 14, 14

% 16. Wdl(concurrent) TR YL A detE Aoj& &2

@ Ada % ® Java
@ HTML @ CH
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Dim 1 As Integer
Dim mat() As Integer
Dim result As String

i=1

result = "
ReDim mat(i + 2)
mat(0) = 0
mat(1) = 1
mat(2) = 2

ReDim Preserve mat(UBound(mat) + 1)
For i = 0 To UBound(mat)
result = result & mat(i) & " "

Next 1
MsgBox(result)
0000 ® 00000
®0120 @ 01200
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@ 7MAl(object)e] TH8AaE &4, Wiz, oJHEoe|t)
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. HTML(Hyper Text Markup Language), SGML(Standard

Generalized Markup Language), XML(eXtensible Markup
Language)ell gt Aoz &4 &2 22?

@ SGML# XML mtag] AdolE Aofd 4 e werdojolth
@ XML& SGML¥ HTMLAH B 18) $577F 17450 gluh.
@ XML SGML®] 743 7|53 HTMLY el ARA

e AHES Asd
@ SGML2 #A43} #9o] Baja 245 AAsl7] e



